Unit 3: Parent Functions & Transformations

Homework 1: Piecewise Functions &
Greatest Integer Functions
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|x-8| ifx<-6

Given a(x)=32x-x* if -6 <x<1, find each function value.
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Graph each function. Identify the domain and range.
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Unit 4c Test Review

Date

. What would be the second step in solving the equation?
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~ What exponent would be used to ehml’r%fe the rational exponent in the equation?
3
(5x —8)8 = —27 %7/5

3. Armrange the steps of solving for x in the correct order.
3
5+ (4x)* = =59

72 | Divide both sides by 4.
U [x=64
| [ Subtract 5 from both sides.
Raise both sides to the 4/3
X power.
4. Ashley's answeris x = 129 and x = -114. What mistake, if any, did she make?
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5. Simplify. What expression will remain under i
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6. What is the sixth root of 729¢

7. Simplify.
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8. Which is not written correctly in rational exponent form?
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9. Rewrite in radical form. Do not simplify.
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10. Solve for h.
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11. Solve. Which of the solutions is extraneous and would not be included jn the final answer?2
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Use the piecewise function below to answer questions 14-16.
—3x+2,if x < -2
9() ={|x+1|,if —2<x<4
S5ifx>4
14. Evaluate for g(7). — 5
N :
15. Evaluate for g(-2). —3(-2)+2 = ? Q
16. Evaluate for g(0). \04 \\ = &
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19. Describe the transformations applied to the parent function. e
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20. Which points would be included on this piecewise function? (Select all that apply.)
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Unit 4C Graphing Test Practice Date Period
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